
 cg";"lr 2-%_

k"/rf}+*L gu/ kflnsf

cf= j= 2074.075

j*f g 7 sf]l^nfsf] of]hgf tyf cg"dflgt lalgof]lht ah]^

s|= ;+= sfo{s|d. ultljlw /sd ?= ;+;f]lwt sfo{s|d,of]hgf /sd ?=

1 l;nfO{s^fO{ tflnd -dlxnf_ 450000 l;nfO{s^fO{ tflnd -dlxnf_ 450000

2 24 #)^] lgz'Ns k|;'lt ;]jf ;+rfng 231000

3 sf]l^nf :jf:Yo rf}sL Joj:yfkg 169000

4 nl^gfy dGlb/ dd{t 100000 nl^gfy dGlb/ dd{t 100000

5 j]tfn dGlb/ lgdf{)f 100000 j]tfn dGlb/ lgdf{)f 100000

6 *f*fafu c^\ofn dGbL/ lgdf)f{ 100000 *f*fafu c^\ofn dGbL/ lgdf)f{ 100000

7 d]nd'*f dGbL/ 100000 d]nd'*f dGbL/ 100000

8 e"jg]Zj/L k|f=la= dd{t 100000 e"jg]Zj/L k|f=la= dd{t 100000

9 ;'of]bo kfla  lkmN* lgdf{)f 100000 ;'of]bo kfla  lkmN* lgdf{)f 100000

10 ho lg/kfn k|fla= 100000 ho lg/kfn k|fla= 100000

11 hgr]tgf k|fla %t dd{t 100000 hgr]tgf k|fla %t dd{t 100000

12 uf]kmf k|fla #]/jf/ 130000 uf]kmf k|fla #]/jf/ 130000

13 >Ls]bf/ k|fla #]/af/ 100000 >Ls]bf/ k|fla #]/af/ 100000

14 b;/y k|fla lkmN* lgd{f)f 100000 b;/y k|fla lkmN* lgd{f)f 100000

15 nl^gfy #]af/ 100000 nl^gfy #]af/ 100000

16 kf]if)f ;'wf/ 60000 kf]if)f ;'wf/ 60000

17 afvf| kfng 100000 afvf| kfng 100000

18 ckf+u kfZj{ lrq lgdf{)f 40000 ckf+u kfZj{ lrq lgdf{)f 40000

19 j*f sfof{no b]lv kf}*f af^f] 200000 j*f sfof{no b]lv kf}*f af^f] 200000

20 h]i& gful/s sDan lat/)f 500000 h]i& gful/s sDan lat/)f 500000

21 kf]nL xfp; lgdf{)f 200000 kf]nL xfp; lgdf{)f 200000

22 P]/f*L ;]/f v]t l;rfO{ s'nf] 200000 P]/f*L ;]/f v]t l;rfO{ s'nf] 200000

23 k}/fvfnf l;rfO{ s'nf]  ca:yL ufp kfv/L 300000 k}/fvfnf l;rfO{ s'nf]  ca:yL ufp kfv/L 300000

24 7 g= sfof{no #]/af/  / ejg dd{t 400000 7 g= sfof{no #]/af/  / ejg dd{t 400000

25 dfxfb]a lgdfla ejg lgd{f)f 500000 dfxfb]a lgdfla ejg dd{t of]hgf 500000

26 j*f sfof{no b]lv P]/Lufp af^f] 500000 j*f sfof{no b]lv P]/Lufp af^f] 500000

24 #)^] lgz'Ns k|;'lt ;]jf ;+rfng
400000



27 /tf]sf b]lv sfkmnL af^f] 300000 /tf]sf b]lv sfkmnL af^f] 300000

28 ulngfy dfla ejg lgdd{)f 550000 ulngfy dfla ejg dd{t of]hgf 550000

29 qLj])fLwfd b]vL e'jg]Zj/L k|fla af^f] ejg] 280000 qLj])fLwfd b]vL e'jg]Zj/L k|fla af^f] ejg] 280000

30 qLj])fLwfd b]vL ca:yLufp hfg] af^f] 200000 qLj])fLwfd b]vL ca:yLufp hfg] af^f] 200000

31 /la zlxb u]^ lgdf{)f sf]l^nf 100000 /la zlxb u]^ lgdf{)f sf]l^nf 100000

32 ?O{gLrf]/ b]lv blnt ^f]n P]/Lufp af^f] 200000 ?O{gLrf]/ b]lv blnt ^f]n P]/Lufp af^f] 200000

33 /]nf e'*L l;rfO{ 300000 /]nf e'*L l;rfO{ 300000

34 lsd]t k"n b]lv dga:yL kf^fufp af^f] 200000 lsd]t k"n b]lv dga:yL kf^fufp af^f] 200000

35 ?OgLv]t b]lv sf]l^nf af^f] 200000 ?OgLv]t b]lv sf]l^nf af^f] 200000

36 kL;L;L k'n P]/f*L 150000 P]/f*L af^f] lgdf{)f 150000

37 sf]^]nLuf* sfkmnL af^]f 250000 sf]^]nLuf* sfkmnL af^]f 250000

38 hLdL*Luf* l/&fnL af^f] 170000 hLdL*Luf* l/&fnL af^f] 170000

39 hf]u]gL vf= kf= 150000 hf]u]gL vf= kf= 150000

40 uf]b]uf* vf=kf=P]/L ufp 150000 uf]b]uf* vf=kf=P]/L ufp 150000

41  sf]^]nL uf* n=h= la= dd{t 300000  sf]^]nL uf* n=h= la= dd{t 300000

42 P]/f*L n=h= la= sfof{no lgdf{{)f 250000 P]/f*L n=h= la= sfof{no lgdf{{)f 250000

43 klx/f] lgoGq)f P]/Lufp 180000 klx/f] lgoGq)f P]/Lufp 180000

44 a"b] kf}^f cf/ ;L=;L= k'n lgdf{)f 130000 a"b] kf}^f cf/ ;L=;L= k'n lgdf{)f 330000

45 vf=kf=^\of+sL wf/f lgdf{)f d+u/f} ejg] 210000 vf=kf=^\of+sL wf/f lgdf{)f d+u/f} ejg] 210000

46 afv|f kfng tflnd 80000 afv|f kfng tflnd 80000

47 ?Olgju/ b]lv dNnfj*ufp af^f] 150000 ?Olgju/ b]lv dNnfj*ufp af^f] 150000

hDdf 95,80,000 hDdf 9780000

cIf]?lk kGrfgAa] nfv cl; xhf/

k]z ug]{M ;b/ ug]{M


